#&’%#Sz*ﬂﬂ:&ﬂi#ﬁi (10%) R5.10.3~

1F & INE B s ] — IR | mesimia] = 5 | 6o
120}16-1 ?Eﬁ%ﬂ’éﬁ&%%%%‘%&ztl (EFR) 1,980 2,200 1,804]smutmu] R5.3.10
121[19-1 HEEHFEEEETLEA I (1 BEH) 1,580 1,760 1,443 smui @] R4.7.28

B 122|131 {RESEEEEETHAL 25£%) 1,580 1,760 1,443 smuitmiy | R4.12.21
123[19- 15 B E R EEHRTELAL (35E£%) 1,580 1,760 1,443 smuitmi] R4.8.26
124|121 HEEHFEETEESTLEA T 4BEH) 1,580 1,760 1,443 smutmu] R4.9.14
102|131 B EBEEEETEE 1,870 1,980 1,760 smuitmi] R47.13

103| £ETHR29R ZEETE 2,090 2,310 1,870] omuirmu] R5.7.1

| 10411 B EBRRELE&YNhS) 1,540 1,760 1,320] smu e m] H20.6.30

105|6-25Thr RIBEHREE 2,871 3,190 2,711 ;5 R5.2.1
106|EERFIETIE ThAMYPT LV ERKBENDREES | 693 770 694 | smu x| swn2z6n
108|2-1 B#T ZiHEBZHOMER 5,447 5,762 5,170 ;5 H20.9.25

109 S A6 ER=BRBRBEREE 3,762 4180 3,553 ;5 R5.8.10

&l 110|18-25T2R EIR3RE LM 4752 5,280 4,488 ;5 R5.3.1
111 FR2EREFRSINE 4,356 4,840 4114 ;5 R2.7.10

12| ERNEZ D EMELEQKA 660 1,100 550 smu gy | H28.4.1
114)1-2 2 7 # fi 830 1,047 733 smultma| H16.5.6

115 ERE R REY=17IL (@I FEETL) 2,376 2,640 2,244 xmpirmp| R43.1

Sl 116|1-2 EBRMESH 1,100 1,361 942 smu g | H26.3.22
18| EMEICEF2HBEAR BN T vY 1,270 1,980 1,100] smui @ | H28.4.15
125|2RETHR HEHRREROF5IE 1,485 1,650 1,402| 2mu £ | R3.10.15
126|65THR ErEEZE1R S EHRELE 1,188 1,320 1,122 smu s | H29.7.10
128A18-4 EAXREXFEEHBIEV\ETHAR) 834+ 5,500 7,480 4,950] smu £ me| R4.10.26
132A140 Z(HZEFEAEZACD-ROM Ver4d0 2,860 3,520 2,420] s#pl g | R4.10.26
131]1-1 BRI BEERIRIZI0EH| 1,100 1,320 990| sl | H20.8.29
230[15-1 {5 EHE EEEMBEEEER) 1,870 2,090 1,760] smu ]| R4.10.13
231|111 R EHRE R EMEES£R) 1,650 1,870 1,940] smursmy| R4.8.8

S| 232|122 EEHEELERNEECEED) 1,650 1,870 1,540] smu e ]| R4.12.28
233|6-1 IEEHEEXERIBEEGEER) 1,650 1,870 1,540] smu ]| R4.10.26

1| 234|6-1 {EEBEELEMEELEER 1,650 1,870 1,540] smurmu] R2.11.25
235|2-1 EEDEEEBLI-HOEBEIFENEE 1,980 2,200 1,870 smui | H2246

Rl 236]2-1 ZHEISKROONDIVTMTVAEE 1,980 2,200 1,870 smuitmiy| H2246
237|1-1 X2 YFo-av LA EEREEE 2,300 2,640 2147 smul gy | H23.12.13

7| 24011 ZiEE DD DESHEE) 2,720 3,300 2,200] il byt | H25.1.29
241|1-1 EEE D=-HD#E HHHT(DVD) 3,820 5,500 3,300 6#xil byt | H25.1.29

V| 242111 BB D=HDES (YR 6,279 8,800 5,238 sty Emed H25.1.29
238|2-1 BRIFETEHA MBEHERR(EZR) 1,560 1,905 1,345 smui | R3.6.28

J|  239|4-1 MBS EHES 2 RIS ERIREE(100R) 1,540 1,980 1,320] smui e mi| R5.4.22
249041 B HBEHZDOFSIEIHR) 2,200 2,409 2,095] smpl by | H30.1.31
JU  250]5-1 B EREROFEI(LER) 2,300 2514 2,200] 5wl kmy | RIT.12.24
251|121 ZEREE i £ 75 2 R4S $FRTRE L (20078) 2,640 3,080 2,420]| smelksms| R5.7.20
252[6-1 2 PAE (i 2751 #RA5 53 RS RE ££(200/) 2,640 3,080 2,420| smelbsms| R25.27
253|14-1 ZHEHELRAEERLER) FETR 1,980 2,200 1,760 smuirmu| R4.33
254171 ZHEERFHAGE - HBE) FETR 2,090 2,200 1,870 smu e ] RTO.17

B 255|9-1 BHEHEHRARGERR) IR 2,090 2,200 1,870] smu e ] RIT.9.26
| 256|1-1 ZiHEHERERCERE) TR 2,090 2,200 1,870 smu tmp| H18.7.7

| 257|211 EHEEBEFHABME) TR 2,090 2,200 1,870 smurgme] R2.4.1
258|1-1 SR E X ;EE 1,930 2,095 1,780] smu e mu | H13.1.31
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259|2-1 EEMEKERE 1,980 2,200 1,870] smursmu]| H28.4.15
260|2-1 ERMRBRELHES 1,930 2,095 1,780 smui kg | H2257

B 261|6-1 MW EEE BT RIEE BHEMT) 2,200 2,420 1,980] smui | R4.4.15
U 262|1-1452b e s TRIEDE KRS D HEN30] 500 880 396 s | H27.8.20
|  263|4-1 EE R - BBRELERR 1 SRR EERIREE(250R]) 2,640 3,080 2,420] smel bmp] H31.35
264|8-1 BB & - IRKHE R 2 FRAE BRI RE £ (250R9) 2,640 3,080 2,420 sl Emy| H30.1.31
265[1-1 BHABEHA BEELEMERABR(EER) 1,560 1,905 1,345 st | H31.2.27
266[3-1 & 2 B E (H 2 RS ER R RESE (100R8) 1,540 1,980 1,320| smui s | R3.10.26
200[12-1 ZAEFEZHEBFOFSI@IHKR) 2,090 2,409 1,938]smurmu] R3.4.20
201|5-1 RBFELHEBOF5I(LELR) 1,991 2,200 1,885] smu ]| R5.1.21
fAl 215|181 R AFE L HE 2 MIEERIEE (20071) 2,640 3,080 2,420] smyl b H29.8.9
X| 205|2-6 R BFEEHE2MIEERIRELE(100R) 1,540 1,980 1,320] smuirme] R4.11.7
B 204|171 ZEFEEHER 1 REERIREE(200R9) 2,640 3,080 2,420 smyl k@] R5.4.18
B 202]12-1 SR EHEHDF IR 2,400 2,619 2,304 ] syl by H30.1.31
Rl 203|8-1 MEERZEHEHFDFSI(LR) 2,400 2,619 2,304 smyl @] R3.4.20
214)15-1 MEERE M ETE 2 MR ERIRELE (200R]) 2,640 3,080 2,420] smpl kg R3.10.26
207|6-1 FESRE i £ 752 RS HE R RE££(100R) 1,540 1,980 1,320 smuitm] R5.9.13
208|9-1 MAERE (i E 75 1 RS SE R RE £ (20078 2,640 3,080 2,420] smpl bmg ] R3.11.24
209|11-1 i 2 (B6%) 1,540 1,650 1,320 1imutms| R3.4.14
21041 HRFETEHE TEFEZHER2REZR) 1,560 1,905 1,345] smu ] R3.12.10
211|3-1 BRETLA BRZHERREEZR) 1,560 1,905 1,345 smuitm| R4.4.27
280|2- 1 EEEEGEEER) EA I (EXE) 1,320 0 1320] = =& H24.8.8
281|3-1HREEEEGEEER)ZRARI 1 5E7H) 1,320 0 1,320 = % R2.8.20
282|2- 1 EEEEGEEER AL 25 £%) 1,320 0 1320] = =& H24.8.8
283|315 EFFHGEEER AL (BBEH) 1,320 0 1320] = =& R3.2.22
284[3-1{EEEEAGEEER AT USEH) 1,320 0 1,320] = =& R2.8.20
285 | R EREBOF 620 838 523 smul - m| H18.9.20
31| 286|HEMEHER DTS 1,980 2,200 1,650 smuL | H18.10.30
287|2- 1R R EBEFD TSI 1,100 1,320 946 smu g | H26.11.7
289|2- 1 R B FEEMEBDOFSI 1,540 1,760 1,320] smui tgme| H26.3.22
201 | B EREBEDFE 1,760 1,980 1,540] smu £ @] H19.7.3
Bl 279|2- 1R EHEHFDFSI 1,980 2,200 1,690 smui @] H265.24
288|3-1 ENIAEIC LD EBRMMREMERS 1,980 2,200 1,760 smui r @ | H29.7.18
293|12-4 EiEEE DR (125T45R) 3,030 3,300 2,514 smyi @] R5.8.10
423|Z K F iR 940 1,100 838] == H20.11.1
E 224 |ZHFR HHAN BRI 100fLLE 11,000 11,000f 11,000] = =z -
A25|ZEFR HABAN (EXFEHIRIK) 100/ E 5,500 5,500 5500 = & -
53711 TR IREE SR MF 1,040 1,152 942 st | H21.12.16
539|1-11/ME - KIBIRIEESE) BT 1,150 1,257 1,047] smu ] H22.11.25
Bl 540|=@gEnniE bhYoTLFE 2,514 2,860 2,420 smpl kg ] H24.123
5415-1 X a)TF4- TS T —HEHAR[E14] 5,700 5,940 5,500] smyl kg ] R3.10.26
542|5-1 X )T TS F—HEHAR[F2%] 2,400 2,420 2,357 smel kg ] R3.10.26
538|4-1 X a)F4- TS o F—EERHEE 2,300 2,640 2,147 smyi @] R5.6.24
550|3-1 ¥l T o oL NEEHA[E 15] 5,230 5,940 5,028| smpl by | RIT.10.1
551|3-1 ¥ )Fr-aoHLav NEBEHA[FE25] 3,030 3,080 2,985] sl e | RIT.10.1
03| EELERE 870 1,100 770] smpirmu ]| H28.7.27
304 —0—FI(T 17102 74—hR) 1,320 1,650 1,210]21mu ey H9.10.13
2] 309|tFaYT4- =27 ILNo.1 1,100 1,320 990] smii x| S61.2.20
310|£F¥2 T4 ¥=27JLNo.2 1,310 1,540 1,210] smu e me] HiT.3.10
2 311|+Exa)T4-I¥=27ILNo3 2,300 2,409 2,200] smpl Emp] H9.6.17
312|&F¥a)T4-%=27LNo.4 2,300 2,409 2,200] smpl bmp ] H7.4.1
7l 313|EFXaUT4 =27 ILNo5 2,510 2,619 2,409] smul Egmx | H12.12.20
403|ZwE 4 BRI (30K vh) 580 660 544 = =
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404| 4 BB AR (BOM v k) 580 660 544 = =
405|tF 2T 454 I ( AS) 800 800 800] ==
407| X2 T481 L (R BHKIEES) 1,600 1,600 1600] == R4.11
409X 2 T154 L (1 ) 10,000f 10,000] 10,000] szssr
418|= e - RLEHEDERICATTGRXE) 4,290 4,730 3980] = = H22.4.6
419|I3cAERS ZRHEDSH 1,879 3,300 1676] ==& H19.5.23
421|security eye #5& 660 770 550 = = H20.3.20
2| 422|SECURITY HANDBOOK 280 330 250] = =& H25.11.1
W1 |BERNBRARU L RE/— 550 1,100 427] 1m215m | H26.11.12
A |eFxaYT4EALBNAVT — 1,570 1,885 1361] ==&
414|rH54E2 (5B) BHA 1,280 1,602 1174] ==
413|Ro84EV (£F) &R 1,280 1,602 1174] ==
415|554 (5B) A 1,280 1,602 1174] ==
MNT|RH84EL (2) &HEA 1,600 1,923 1493] ==
432|551 (£)2015 1,540 2,200 1430] == H27. 5
2 433|R95AE ($8)2015 1,540 2,200 1430] ==& H27. 5
426l 2T4- TS5 F—\wP(SP) 1,250 1,430 1,192) = =&
427 FaYT4-a Y IILEU AT (SC) 1,250 1,430 1,152) = =&
428|E > /y AUSSA (7'1-) 520 880 470 = =
429|E 2 /3y AISSA (51)-Y) 520 880 470 = =
430|238y AJUSSA (1)) 520 880 470 ==
435|txaT4- TS5 F——IL1Y—1508 (51 Bk 1,100 1,100 990 = =
436 AERH—TRYI-) RAE— 610 770 561 e H28. 5
437|ABRA—D@YI-1) SARTIL— 610 770 561 e H28. 5
%l 438 ARRA—TRVI-L) EVY 610 770 561] = =& H28. 5
439 AR H—T RV I-)) K F 610 770 561 e H28. 5
0| ABRA—TRVY-I) 4 500EKLLE 590 748 540 = = H28. 6
AN |ABRH—TRYH-I) 48 1000 L 580 738 530 = = H28. 6
A2l 2T a LB —IL1Y-508 (BRI 1,100 1,100 990 = =&
2445w F<—HhH— 990 1,320 880 = = H25.6.7
2455 ) —> < —h—(F7%K74}) 770 990 660] = = H25.6.7
246|5)—><2—H—(T'I-) 770 990 660] = = H25.6.7
247|5)—>2—h—(1vY) 770 990 660 = = H25.6.7
2485 ) —o2—h—(HLUY) 770 990 660 = = H25.6.7
245-1 |97 - v—H—t v EF 7RI 1,650 2,200 1430] = =& H25.6.7
246-1 |9y 7 - v—h—tyT o) 1,650 2,200 1430] = =& H25.6.7
247-1 |9y T - v—h—tyIvy) 1,650 2,200 1430] = =& H25.6.7
248-1 |9 w7 -v—h—tyrHLYY) 1,650 2,200 1430] = =& H25.6.7
544|R£L{E3EDVD £6% 100,569] 149,496| 94,285 = u
544-1|R £ L{EFEDVD (F1%) 17,8091 31,953] 15,714] =
E| 544-2|% 4 L1E3EDVD (F2%%) 17,809 31,953| 15714] = #
544-3| R £ L{E3EDVD (§3%) 17,809 31,953] 15714 = u
MY 544-4|% & LIE3EDVD (F4%5) 17,809 31,953] 15714 =
544-5|% & L{EFEDVD (§F5%) 20952 37,296] 18,857 =
544-6|% & L{EFEDVD (£6%) 20952 37,296| 18,857 =
507|fASh 2 EBEDVDE2% 29333 47,980| 26,714] = u
507-1|{ASh 2 ZHEDVD (FE1%) 24029 26,609] 23494 = u
507-2|fASh 2 E B EDVD (F2%) 24029 26,609] 23494 = u
545|TBUYE TV R2—F B E M fiTIDVD (1) 9,428 14,300 8,360 = u
502|3EFEE1#DVD £6% 90,776 117,476] 83,299| = u
502-1|XEFEZ R 1#RDVD (1) 18,155 21,359] 16,553 —#zs520Mm
7| 502-2|K B FE LM 14kDVD (E2%8) 18,155] 21,359| 16,553] —##s520m
JU] 502-3|3EFEEE1#kDVD (553%) 18,155 21,359] 16,553] —#s520m
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| 502-4|%EFEZ R 1#RDVD (F4%) 18,155 21,359] 16,553] —#s520m
502-5|XBFHE LK 1HRDVD (E5%) 18,155 21,359] 16,553] —#s520m
502-6|3 @ FE LK 1#DVD (56%) 18,155 21,359] 16,553] —#s520m
522| B EHKEDVD 6% 129,904| 162,380] 123,619] =
522147 %1% & #EOVD (1) 27,238 34,571) 26191] =
522-2|#F EHBHAEDVD (F2%) 27,238] 34571) 26,191} = »
522-3%7 %1% & #EDVD (H3%) 27,238 34571) 26.191] = »
£ 522-4|HEHEEXREDVD (E4%) 27,2381 34571 26191] = u
522-5|# Lk BB EDVD (555%) 27,2381 34571 26191 = u
52263 Lk BB EDVD (556%) 27,2381 34571 26191] = u
523-1|XBFEZHEFH2HDVD (F15) 2B 20,952 27,238] 19,904 =
2| 523-2| K EFE LR EF24KDVD (5525) RRiR 20,952 27,238] 19,904] = u
524-1 | B B £ FE2B0VD (B 15) EHHF 20,952] 27238 19904 % #
524-2| MBS B £ F2BDVD (B2 5) T 20,952] 27238 19904 = #
525-1|MEERZ i £ 752 DVD (51%) £HE ik 20,952 27,238] 19,904 =
525-2|ME SR E i £ 7524RDVD ($F2%) EHiR 20,952 27,238] 19,904] =
526|r &4 £ #2433 BHIOVD (15) EHR 20,952| 27,238] 19,904 =
528 |l RIRRIREESE DVD (2 15) 16,761 20,428] 15,189] =
37| 530|2-1BiEt 2R ERBERELBEDVD (£15) FEHRE 15,4001 22,000] 13,200] a%<450m | R4.3.24~
16| 532|2-1Bit 2R EARERELEDVD (215)FHR 15,4001 22,000] 13,200] ass<csom| R4.6.1~
E| 534|218t 2RRERFERELEDVD(215)FHR 15,4001 22,000] 13,200] 2&%<c4s0m |R4.12.16~
Bl 536|-18emmcEgags-EEoVD (@152l 13,2001 19,800] 10,450] a#+<4s0m | R3.7.19~
553| %) T4 a4 LBV NDVD(E 1) 1,881 3,300 1,571] asxcasom| H24.7.6
2| 546[1-1EFELHER1MOVD (£18)ERIR 17,6001 22,000] 15,400] s##<30m| H23.4~
2 5471 -1 B EE X5 14RDVD (£ 15) BHiR 17,6001 22,000] 15,400] s##<30m| H23.4~
%l 548|2-3MEER L £751MDVD (£145) KETIR EER 17,6001 22,000] 15,400] 4s#w3om| R5.1~
549|1-1 2B £ 75 1B MR 1 EDVD (£ 15) EHiR 17,6001 22,000 15,400 4s=<s7om | H23.4~
K| 600|z5@E /N RE SHAER 4,356 4,840 4114] = R4.12.26
A 604|FRi21 ERIEBERIE XD 942 1,047 891 & s | H21.12.21
605| H18&EM ELa7ILT—4 2,271 2,530 2150 = H20.4.11
7005 E#8E SHISEMR 8,514 9,460 8,041 440 R4.12.15
5|  705|65mEEHERDI-ODANE - EEHIE 1,782 1,980 1,683 330 H25.6.20
707 |BE T A SRR BEEEEE 15K 1,980 2,200 1,870 165 H28.4.10
708|A A EEEHRBRBAEMNEE (E75) 1,980 2,200 1,870 165 H27.6.30
B 09| N\SRAVE —BISERIETRED— 1,485 1,650 1,402 165 H31.4.25
TI0|SHSERES Y RE1E 14,8501 16,500] 14,025 330 R5.8.25
| SHSERES Y RE2% 14,8501 16,500] 14,025 330 R5.8.25
E 72| SHSERES Y RESE 15,8401 17,600] 14,960 330 R5.8.25
T3 SHSERES Y RE4IE 12,8701 14,300] 12,155 330 R5.8.25
N4|70BRERROER - B2%RE 1,980 2,200 1,870 165 R3.11.25
S| 716|SHSER HERRFBLZRIRI—/—F 2,970 3,300 2,805 165 R5.5.15
7| SHSER $18 - S RIREIT B/ —+ 1,881 2,090 1,776 165 R5.5.15
T18|RIE/A—h 24 LFEE DR 1,188 1,320 1,122 165 H27.3
To|gHF,OHZEMEFE MR-SH-BHE 1,980 2,200 1,870 165 R5.3.20
133 BEF LDV NVETER 1,980 2,200 1,870 165 H21.2.20
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800|EHEEERLE (215 17,8201 19,800] 16,830| #smy | mopezt
801|& R bR B3 EE (R5.7 BHEITHUNER) E314R 1,584 1,760 1,496] 1#m330m R5.8
802|EENARAMET=0TIL 4,455 4,950 4,207] 1zma008 | H21.2.6
803|{E A 1E3RIZE/ R D v (k) 9,900 11,000 9,350| pmu | =

Z| 804 HEEHRERE - RONURTvo(ni) 11,8801 13,200] 11,220] mpme | bzt
805|IKDRAYE BEER MR (MBEFXH) 31,428 - 20,952 - -
806|IKDRAYE BEEMIMIR (S8HEXH) - 52,3801 31,428 - -

| 807|rEEA—LR—SHBY—ER] 107,800] 129,800| 102,410 - -
808|I B HPRIR - SHEBERI2EEDH 66,000f 66,000] 62,700 - -
812|(BETHRIARXATRAENES 2,574 2,860 2,431 1z460M -

) 813|CERIAAX BT REH(E10R) 4,851 5,390 4581| 1#460Mm R5.4.1
814|ZHE RE-BERTYN IV 217 242 205] szp=# | H28.10.31
816|SH4EARI BAXERDEZH IDK AU ESTHI 2,772 3,080 2,618] 1za10m R4.7
817|(2EThR) 2AX 1EBDE S EXHI 3,465 3,850 3,272] 1#a60M R5.6.1
820|%E 5| - £ B ERAN LEREYIYNREE 1,833 2,037 1680] ==& H28.3.11
8307 A RN—F R (FAANYH3{E ) RAE—(S) 6,900 7,920 6,145] mn 8 its1 7ML EE
831| 74 RN—H R (FAAN )3 ) RAE—(M/L) 6,900 7,920 6,145 mes s M HEU S
832| 7 A RN—F R (FAANYH3{E) A E —(LL/3L) 6,900 7,920 6,145] e s M HmELU S

7 8337 ARN—RR(FAANY)3ET) FAE—(XL) 6,900 7,920 6,145 msa 8 i1 FAL R
834|7 A RN—RR (FAANY)3{ET) TIL—(S) 6,900 7,920 6,145 mes s M HEU S

W 8357 A RN—RR(FAANy)3ER) T IL—(M/L) 6,900 7,920 6,145 mes s M HEU S
836|7 4 R/N—H R (F4AN 9938 4H) T )L—(LL/3L) 6,900 7,920 6,145 mes s M HEU S

I| 837 FARN—FRR(FAANYY3MER) TIL—(XL) 6,900 7,920 6,145 mes s M HEU S
838|7 A RN—RR (FAANY)3EF) F'L—(S) 6,900 7,920 6,145 mes s M HEU S

#l 839|FARN—RR(FAANYI3MBEF) T L—(M/L) 6,900 7,920 6,145 mes s M HEU S
840]| 74 R/N—F R (FAANYY3{E ) 'L —(LL/3L) 6,900 7,920 6,145 mes s M HEU S
841|7 A RN—RR (FAAN )3 ) F'L—(XL) 6,900 7,920 6,145 mes s M HEU S
8427 A RN—F R (FAANYH3EE) T 594 (S) 6,900 7,920 6,145] e s MBS
843| 7 A ZRN—F R (FAANYH3E ) TF95 (M/L) 6,900 7,920 6,145] e s MBS
8447 A ZN—F R (FAANYH3E ) TFvH(LL/3L) 6,900 7,920 6,145] e s MBS
8457 A RN—F R (FAANYH3MEF) T w4 (XL) 6,900 7,920 6,145] e s MBS
8463 EA T AR/ v4 (3EEYR) 1,300 1,885 1,167 58 8 mits1 5L
847|HBIRNS YT 500 660 443 s a1 B S
848|7 A RIN—F R (FAANyH3{E () 30078 LU E 6,875 7,920 6,188 Eide
849|Z AT A R/ 3w (3fE k) 300ty L E 1,155 1,885 1,038 &
850|NEW7 1 AN—3A1274—h (RAFIE ) A E— (7 7,500 9,020 6,664 s amis B S
851|NEW7 A AN—%A1=74— L (IR A FISE ) =T A+ (71)- 7,500 9,020 6,664 | s 8 miss 1L S
410|AJSSA ZV)TF 274 IL(Er795—11) 100 102 97] = =& R3.4
450]AJSSA T+ (fiifa) M 1,320 1,324 1,300 = =& H30.5
451]AJSSA T v (fitfa) L 1,320 1,324 1,300 = =& H30.5
452|AJSSA T () LL 1,320 1,324 1,300 = =& H30.5

2| 453|AJSSA T4 () 3L 1,450 1,500 1,400] = =& H30.5
454|AJSSA T (HitfR) 4L 1,450 1,500 1,400] = =& H30.5
455|AJSSA RALE RO Y (Fif) M 1,730 1,733 1,700 = = H30.5

2l 456|AJSSA RELE RO Y (HE) L 1,730 1,733 1,700 = = H30.5
457|AJSSA RELE RO Y (Fif) LL 1,730 1,733 1,700 = =& H30.5
458|AJSSA RAVEH RO Y (Fif) 3L 2,101 2,200 2000 = =& H30.5

7l 459|AJSSA RELE RO Y (Fi) 4L 2,101 2,200 2000 = =& H30.5
460|AJSSA R—)LRU2ERL v—TRY (FHRK=)) 540 550 530 = = RJT.6
420]AJSSA Fv¥y T (Av-Ayva) H4RLL/3BL 2,860 3,080 2750 ==& R5.8.1
434|AdsSA Ry -ANSYT 610 612 600] ==& H29. 7

OFHLAHDIRE, GHMBEFTEDTIEIX TS,

SH5410 A 3B HWE0%FA)




[T=F] o Z [nEEER] — R | e min] = & | 6017 |
B EAE M EEN Y i

BERHEEXEERE \vD(UE~45) 1,360 1,360 1,257 = =&
HEREREBEEE VD 1,360 1,360 1,257] ==&
OMEBEYDAHETIENXT Y, SH5410 A 3B RAE10%FHiA)

REN Y %

RE-HE-EE-EER-ZBEHBANAYD 1,320 1,320 1150] = =&

RiE-HE-EE-EER- B2\ vD 1,050 1,050 880 = =
OBRENYY DTEAXIELER - hHBFERABELLET, A5 10 A 3B HEN0%EA)



